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HATHIE e 2857 4,020 4,560
TH%A 2858 4,740 5,360

AR 18578 3,300 3,740

R Sds 2857 2,880 3,080
THH%A 285 3,440 3,680

=R 18588 820 930

F515 FH KA 1BFfE 280 310
FEEOSHUT) 18R ($48) 100

== 18578 (#148) 100

i (65mULE) 1HE (%48) 100

+ERE KA 18578 360 370
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F—I(EF) KA 2857 390 440
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M=E(0&) +FH Fal 365 2,520 2,860
+ER T 3ER 3,000 3,400

FH Fi& ABFRS 3,360 3,810

+ER i AR 3,960 4,490

FH 1H 6,720 7,620

+ER 18 8,040 9,120

f=(8&) +FH TR 365 2,160 2,450
+ER T 3ERY 2,520 2,860

FH Fi& ABFRS 2,880 3,260

+ER Fig ABSRY 3,360 3,810

FH 1H 5,760 6,530

+ER 18 6,840 7,760
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N=(4.58) B a1 3B 1,440 1,630
THM% TRl 365 1,680 1,900

A ik ABERS 1,920 2,170

AR T 4B 2,280 2,580

FH 1H 3,840 4,350

AR 18 4,560 5,170

TE FH a1 36 2,400 2,720
THM% TRl 365 2,880 3,260

FH Fi& ABFRS 3,120 3,540

AR i AR 3,720 4,220

FH 1H 6,360 7,210

+A#R 18 7,560 8,580
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s=sL 18U T1E 50 50
AA1E 100 110
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